H_COPPER TUBE TERMINALS _ GC(SIW\ ) fR‘EMF
DIMENS 1ONS
2:::12:?“ e SE @D @d w 8 L
4.3 6.6 4.5 11.0 13.0 30.0
5.3 6.6 4.5 11.0 13.0 30.0
6.5 6.6 4.5 11.0 13.0 30,0
8.3 6.6 4.5 12.5 13.0 30.0
10.3 16.9 4.5 16.0 13.0 34,1
12.1 6.9 4.5 18.0 12.0 34.1
5.3 1.5 5.5 11.0 14.0 30.7
6.5 1.5 5.5 11.0 14.0 30.7
8.3 1.5 5.5 12.5 13.0 30.7
10.3 1.5 5.5 16.0 14.0 35.9
12.7 8.1 5.5 18.0 13.0 35.9
5.3 9.1 6.1 13.0 13.0 32.2
6.5 9.1 6.7 13.0 13.0 32.2
8.3 9.1 6.7 13.0 13.0 132.2
10.3 9.1 6.7 16.0 14.0 36.9
12.7 9.1 6.7 18.0 13.0 36.9
14.8 9.1 6.7 20.0 13.0 38.9
5.3 11.0 8.6 16.0 16.0 31.6
6.5 11.0 8.6 16.0 16.0 37.6
8.3 11.0 8.6 16.0 16.0 31.6
10.3 11.0 8.6 1.0 16.0 41.5
12.1 11.0 8.6 18.0 16.0 41.5
14.8 11.0 8.6 20.0 16.0 43.5
16.5 1.0 8.6 23.0 16.0 45.5
5.3 12.4 9.5 18.0 1.0 41.0
6.5 12.4 9.5 18.0 17.0 41.0
6C50-8 8.3 12.4 9.5 18.0 1.0 41.0
6050-10 10.3 12.4 9.5 18.0 17.0 44.0
8050-12 12.7 12.4 9.5 19.0 1.0 44.0
6050-14 14.8 12.4 9.5 21.0 19.0 52.8
8C50-16 16.5 12.4 9.5 23.0 19.0 52.8
5
5
5
5
5

58,3

60.0

60.0

60.0

64.0

0 64.0

21,2 16.5 30.0 27.0 67.0

21.2 16.5 30.0 21.0 61.0

21,2 16.5 30.0 27.0 67.0

(0003 212 16.5 30.0 21.0 7.4

m 21.2 16.5 30.0 21.0 11.4

(000310 23.0 18.0 4.0 30.0 73.0

6C185-12 12.7 23.0 19.0 34.0 30.0 73.0

LYDOO3-1056 B0185-14 14.8 23.0 18.0 34.0 30.0 13.0

LY0003-1057 80185-16 16.5 23.0 19.0 34.0 30.0 76.2

LYDD03-1058 _ |6C185-20  120.8 23.0 18.0 34.0 30.0 76.2

LY0003-1058 _____16C240-10 ___110.3 26.5 21.0 38.6 38.0 91.4

LY0003-1060 66240-12 12.7 26.5 21.0 38.6 38.0 91.4

LY0003-1061 BC240-14 14.8 26,5 21.0 38.6 38.0 91.4

LY0003-1062 60240-16 16.5 26.5 21.0 138.6 138.0 91.4

LYD003-1063  |6C240-20  120.9 26.5 21.0 38.6 38.0 91.4

LYDDO3-1064 60300-12 12.1 30.0 24.5 43.8 42.0 98.0

LY0003-1065 BC300-14 14.8 30.0 24.5 43.8 42.0 98.0

LYDD03-1066 60300=16 16.5 30.0 24.5 43.8 42.0 98.0

LY0003-1067 ___|8C300-20  120.9 30.0 24,5 43.8 42.0 98.0

LY0003-1068 60400-12 12.7 35.0 21.0 49.0 44.0 104.0

LY0003-1068 8C400-14 14. BAGE]/135.0 21.0 49.0 44,0 104.0

LYD003-1070 B0400-16 16.5 35.0 21.0 48.0 44.0 104.0
= 0 27 0




